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0351: 0000000000000 [9][17)

Ton upper level ERslkeV] f12
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Fe?*+  1s'2p'3P, Ka 6.668 0.0562
Fe?*t  1s'2p'3P, Ko 6.682 2.81 x 1077
Fe?*+  1s'2p''P,  Ka 6.7011266 0.703
Fe? ™ 2p' 2Py )53/ Ko  6.9519639,6.9731781 0.44
Ni%6t  1s'2p'3P Ka 7.7668938 0.0883
Ni%6t  1s'2p'lP Ko 7.8062340 0.683
Fe?4t  1s'3p''P, KB 7.8820244 0.138
N2t 2p' 2Py 55 KB 8.0731039,8.1017429 0.44
Fe?™t  3pt2Py )53/, KB  8.2636944,8.2526875 0.046
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7.806,/6.701, 0 0 7.882/6.701, 0 8.073/6.701, 0 8.101/6.701, 00 O 8.263/6.701, 0 O 8.252/6.701)
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4.3 XOOOOO Suzaku/XIS
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0 44.1: 0000 Suzaku/XISOOO OO

Observation Start

Sequence No.

R.A. Dec. |
(deg)

Euler angle
(deg)

Exposure (XIS)*

(sec)

2006-02-01 13:39:13
2006-08-29 18:55:07
2007-02-05 15:57:48
2007-08-15 12:40:49
2008-02-07 02:09:42
2008-08-13 14:28:17
2009-02-11 17:31:00
2009-08-26 04:00:28
2010-02-01 08:03:24
2010-08-09 09:10:56
2011-02-03 00:35:55
2011-07-26 12:07:10
2012-02-07 20:00:00
2012-08-20 23:30:00
2013-02-11 04:59:00
2013-08-15 10:14:00

800010010
101012010
101012020
102011010
102012010
103004010
103004020
104018010
104019010
105009010
105009020
106006010
106005020
107005010
107005020
108005010

49.9554 41.5039
49.9436 41.5175
49.9542 41.5047
49.9461 41.5179
49.9565 41.5050
49.9468 41.5180
49.9546 41.5055
49.9444 41.5171
49.9512 41.4934
49.9406 41.5199
49.9557 41.5028
49.9439 41.5251
49.9504 41.5117
49.9504 41.5117
49.9504 41.5117
49.9504 41.5117

49.9504 48.4883 189.7826
49.9504 48.4883 23.9598
49.9504 48.4883 191.3483
49.9504 48.4883 6.6234
49.9504 48.4883 194.8143
49.9504 48.4883 3.1838
49.9504 48.4883 193.9239
49.9504 48.4883 23.0000
49.9504 48.4883 172.6748
49.9504 48.4883 23.4160
49.9504 48.4883 190.0324
49.9504 48.4883 5.7419
49.9504 48.4883 188.0000
49.9504 48.4883 17.3894
49.9504 48.4883 193.7129
49.9504 48.4883 13.7580

151213 (0,2,3)
452763 (0,2,3)
87766 (0,3)
84564 (0,3)
123486 (0,3)
81170 (0,3)
100022 (0,3)
82567 (0,3)
77230
67248
91811
80298
93635
82263
82795
82514 (0,3)

0,3)
0,3)
0,3)
0,3)
0,3)
0,3)
0,3)

)

o~ o~ o~ o~ o~ o~ o~ o~

)

Total Exposure 1821345
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x: Exposure 0 XIS-0,2,3 0 Exposure time 0000000000

4.4.2 0O0OOO0O0O0OOOOO0

XISoooooooooooooooooooooopooooooooooobooooooooooo
OO0oo0oDOoDOO0o000oDoOoo0O0oooooOo0o0ooooO0 bremssODO0O0O000O0DODOOO
00000000 zgaussOOOOOODOOOOOOOOOOODOODOODOOODODOOOOOOODOO

oboocooobooooooboon

bremss 0 0 O

bremss O OOO0OO00OO00OO0OOO0OO0OOOOOODOODOO XOOOOOOOoOoOooooooooo
0000000000000 0000000000000000 ICM OO0 kT [keV]O normalization O 2
gboooboooobooboboboobooboobooboon
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zgauss J [

zgauss 1O OO0000000DO gaussian OO0 O0OO0OO0OO0O0OO0OOOOOOOOOOOOOOOOO
UbboobO0obo0oboobobb0dOzgaussODOOOODOODOOOOODOOOOODOO

A(E) = K exp (E(Q+2z)—Ep)
V27ro2(1 + 2) 202
0000000 F, 0000000000000 0D002000000K O normalizationO0OO0OO0O
000000 EL0e00KO0000O00OD00OO0O0ODOODOODOOXISOOOODOOOOOOODOOO
00000 normalization 00 0000000000000 ODOOODOOCO0OOOOOOODOOOOOOO
oo oobbboobobobboboboboboddoooooobD bbb b
000000000000 000000 normalization 0000000000000 O0G40000000O
000000 (D0000000o0oUo05) 0000000000000 000DUO00UOooUooooo
ooodobdbodooboboooboboboobonog 442000000000 0020 00179000000
000000000000000000000000 (44.2)0 linemodel OO0 0OO0O0OOO (0DOO
GO zgauss mode) D000 00 constant 0000 0000000000000 ODO normalization O 0O O
00782keVO 0000000 ODOODOODOOODOODOODOODOODOODOODOODOODODON fitting
00000000000000 (4.4.3) 0 fitting model D 0O OO

(4.4.1)

linemodel = constantl x (ratioe,637G6,637 + ratiOG.GﬁgGGV(;Gg + ratioe,682G6,682 + rat106.701G6V701)
+constant2 x (ratioG_951 Ge.951 + ratioG_973G6_g73) + contstant3 x (rat107.766G7,766
+rat107'806G7‘806) + K7 8820G7 832 + constantd x (rat108.073G8,073 + ratiog 101 Gg,ml)

~+constanth x (ratiog 250Gg 252 + ratios 263Gs.263) (4.4.2)

fitting model = bremss modell + bremss model2 + line model (4.4.3)

0000 4420000 XISOOOOOOO 600000 (6.7, 7.0,7.8,8.88,8.1,825keV) 000000
00000000000 000DD0O normalization 00000 6.7keVODOODO

normalizationg 7 = constantl X (ratiogg37 + ratios ees + ratios.ess + ratios 7o1) (4.4.4)

OO0000D0000000D000D07.882keVOODODOO Kygse O normalization 000000000 60
gobooooooboobooooboboboboooo40b0000000OO0O0bOO0O0ODOOODOOn
goooboooboo
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0 4.4.2: fittingO0OOOO0OO0O
0000 Energy(Er)keV] ratioO lon 0000000

6.7 6.637 23.8721  Fe?t constant1
6.668 173.589  Fe?t
6.682 110.422  Fe?*t
6.701 313.324  Fe?*t

7.0 6.951 39.6578  Fe?5t constant2
6.973 39.1062 Fe?t

7.8 7.766 18.7687  Ni26+ constant3
7.806 17.5671  Ni%6+

7.88 7.882 0000 Fet K sso

8.1 8.073 0.530846  Ni%™+ constant4
8.101 0.565155 Ni?"*

8.25 8.252 13.1244  FeT constanth
8.263 16.4716  FeT

0442000000 10000000000000000000000000 443000000 24
Oo0oooooooOoo0o0ooooooooooooooOoooboDbooDoDoObObOde.7TkeVOODOOOO
OO00oO0oooOoOoobobooeTkeVvOOOOO 400000000000 DOODOOOODODOOOODOOO
ooboooooOoooooboooooboooboooooobooobooOobooooobooobooooooon
0000000000000 00000000000 normalization0O000078keVODOODOODOO
0000000000000 Fe™0KBO100Ni*?0KaO2000F0NOOOOOOODOO
obobooooooooooboooooboboooooooobobocoobooooooooobooooooooan
ooooooo
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Sim_PerseusGalaxyCluster 140530_nomalfit Sim_PerseusGalaxyCluster 140530_nomalfit

normalized counts 5 kaVW/-!
normalized counts 5 kaV-'
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W W’%.W NNWM °ﬁ#'ﬂ*|hi"ﬁ"w wwﬂ'?‘“’ hﬁﬂﬁn W il MM

8 7
Energy (keV) Enargy [keV)

0442 00000 10000000000000 O0443:000000000002400000000
oboooooobooooo oooooon

OO000000C0000D0O0D0O00000 normalization 0 06.7keVOOO0O0OOOOOOOOOOO

0443000000 10000000D00O000O0D 444000000 2400000000000D0O0O
O00000Db0000D 13000000 normalization 00000000 ODOOO

0443: 000 10000000000000 normalization 00 00O (Energy/6.7keV)

EnergylkeV] 0000000 Energy[keV] normalization[c/s/cm?] ooo
6.7 6.637, 6.668, 6.682, 6.701 (2.04+0.01)x 1074 1
7.0 6.951, 6.973 (1.740.1)x107° 0.084+0.005
7.88 7.882 (1.34:0.1)x107° 0.065 £ 0.008
8.25 8.263, 8.252 (5.4+0.9)76 0.026+0.004

0444 00000 240000000000000 normalization 0000 (Energy/6.7keV)

EnergylkeV] 0000000 EnergylkeV] normalization[c/s/cm?] 00O
6.7 6.637, 6.668, 6.682, 6.701 (6.3740.02)x 104 1
7.0 6.951, 6.973 (9.6+£0.1)x107° 0.151£0.002
7.88 7.882 (3.6+£0.3)x107° 0.057 £ 0.004
8.25 8.263, 8.252 (2.0+£0.1)7° 0.032£0.002

gobobobooobodoooooobobobobbobobobooooooboboboboboboooboo
gbogobooboboooobooboboobobooboobobooboboboobooobobo
gboboboboboboboboboboboboboboboboobooopobooboooooog
gbobobogobooboboboboboboooooooobobooboobobobobooboooo

50



gbooboooboobooboobobboOoboboboob apecdbooooboobooobooboooOn
O00OapecO0000O0O0OOOODOOO0OODOOOOOOOOOCOODOOOODOODOOOOOICMOO
0k keV]DOOOO nH[em?|000000000000000 20000apec0000000O XISODO
goooooooOoOoOoOoOoOoOOOoOOOOOOOOOOOOOOOO XISOOOOOoOooooooo
(0 442)00006.7keVO 00000000 OOOOOOOOOODOOODOOOOOODOOODODO 444
gooo
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0 444: 000000000 (Energy/6.7keV); 0 :6.7keV, O :7.0keV, O :7.766keV(Ni), O O :7.806keV (Ni),
0 :7.88keV, O :8.25keV)

000000 44.3,4440000 6.7keVODOOD 7.0keVO00000000000000000 4440
000000000000000000000000000000000000000000000 ICM
00000000000 444000000000000000 10000 (r<1)000000 2400
00 (r=2-4)070/670000000000000000000 444000ICMO0O0OO0O 100
000 3.900 £0.075[keV]02-4 000000 474550 0% keV]| 000 00000000000 OOOOO
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00000000000000006.7eVO00000000000000000000000O00O0O0
00000000000000000000000 7.0/67000000 apec00000000000O0
000000000000000000000000000000000000000000000000
0000000000000000000000000000 44100000000000006.7keV 0
000 7.88keV(Fet?K3),8.25keV 00000000 7.88keV 00000000 Nil 7.766keV,7.806keV
000000000000000000000000000 FeONiDOOOOOOOOOOOOOFeO
788keVO0000000000OOOOD 44500000
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0 445: 67keVOODODOOOOOODO
0000 EnergykeV] OOO0OO0O0OOO0OO0OO0OOOO0OO apecO0OO0OOOOOOO

r<l1 7.88 0.065 =+ 0.008 0.0574 105043
8.25 0.030 + 0.026 0.033079:0008
r=2-—4 7.88 0.057 £ 0.004 0.067710 5003
8.25 0.032 = 0.002 0.043270-0002

0 4450000000000 24000000000000000000000000000DO00O0OO
U0000D0apec0 0000000000 OODapec0OO0OO0OO0OO0OOOO0ODOOODOOODOOODOOOO
ooboooobooooooboooboobooooooobooooooboo10o0ooooobooooboOon
OO00000000DOD0O000D0D GeantdODOOUOODODOOOODOOODOO
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00000000000000002400000 433(bb)00000000000000000000
000000000000000000000000000000000000000000000000
000 1000000000000000000000000000

()00000 24000000 7.0,7.88,825keV 0000000
(2)00000 100000 (2)000000000
00000000000000 (1)000000000000000000000 24000 (XISOOO
000000000)/(00000000000000000)=0000)00000000000000
0000 44400 43.102400,000000,M=00000000000000000 446000
00000000000000010000000000000000000 (2)00000000000
0000000000 1000000 (00000000000000000)x(0000)000000
000000000000000000000000000000000000000000000000
00000000000000000000 45()000000 1000000000 45b)00000
0240000000000 4460 (2)0000000000000000 SwakuOOOOD0OO000O
00000000000000000000000005000000000000000000000
1000000
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0 OA OO0

A1l ASTRO-HOOOOOOOOOO

04300 ASTRO-HOOOOOOOOOOOOOOOOOOO

0O A.1.1: ASTRO-H,00000 10000,M=0000000000

EnergylkeV] counts(DOO0D00O0O) counts(DOOOO0O) oooo
6.637 (5.29 £ 0.07) x 10* (5.41 +£0.07) x 10* 0.97 £ 0.01
6.668 (32.94+0.1) x 10* (36.8+0.1) x 10*  0.895 + 0.006
6.682 (27.54+0.1) x 10* (27.0+£0.1) x 10+ 1.018 £ 0.008
6.701 (51.74+0.2) x 10* (109.4 4+ 0.3) x 10*  0.472 £ 0.002
6.952 (6.27 £ 0.07) x 10* (8.43 £ 0.09) x 10* 0.74 +0.01
6.973 (6.17 £0.07) x 10* (8.64 +0.09) x 10* 0.71 £ 0.01
7.767 (3.11 £ 0.05) x 10* (3.06 + 0.05) x 10* 1.01 £ 0.02
7.806 (2.59 +0.05) x 10* (2.87 £ 0.05) x 10* 0.90 + 0.02
7.882 (6.12 +£0.07) x 10* (7.55 4+ 0.08) x 10* 0.81 4 0.01
8.073 (0.068 4+ 0.008) x 10*  (0.075+0.008) x 10*  0.91 +0.15
8.102 (0.078 4 0.008) x 10*  (0.068 £ 0.008) x 10*  1.1440.19
8.253 (1.44 4+ 0.04) x 104 (1.66 + 0.04) x 10* 0.86 + 0.03
8.264 (2.22 4+0.04) x 104 (2.32 4+ 0.05) x 10* 0.95 + 0.02
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0 A1.2: ASTRO-H,O0OOOO 240000 M=00000000000

Energy[keV] counts(DOO0D0O0O) counts(DOOOO0O) oooo
6.637 (1.66 + 0.04) x 10* (1.55 4 0.03) x 10* 1.06 4 0.03
6.668 (11.34+0.1) x 10* (11.5+0.1) x 104 0.98 +0.01
6.682 (8.42 4 0.09) x 104 (8.44 £ 0.09) x 10* 0.99 £ 0.01
6.701 (32.0+0.1) x 10* (33.54+0.1) x 10*  0.955 £ 0.007
6.952 (3.98 £ 0.06) x 10* (4.25 +0.06) x 10* 0.93 +0.02
6.973 (4.09 +0.06) x 10* (4.22 +0.06) x 10* 0.96 + 0.02
7.767 (0.87pm0.02) x 10* (0.86 + 0.02) x 10* 1.01 4 0.04
7.806 (0.83 £0.02) x 10* (0.85 +0.02) x 10* 0.97 +0.04
7.882 (2.64 +0.05) x 10* (2.70 £ 0.05) x 10* 0.97 + 0.02
8.073 (0.014 4 0.003) x 10*  (0.021 £ 0.004) x 10*  0.66 4+ 0.23
8.102 (0.028 4+ 0.005) x 10*  (0.021 £ 0.004) x 10*  1.3340.38
8.253 (0.58 £ 0.02) x 10* (0.60 +0.02) x 10* 0.96 + 0.05
8.264 (0.89 +0.03) x 10* (0.89 +0.03) x 10* 0.99 4+ 0.04

0 A1.3: ASTRO-H, 00000 10000,M=05000000000

EnergykeV] counts(OOOODO0O) counts(QOODOODO) 0oooo
6.637 (4.80+£0.07) x 10*  (4.84+0.07) x 10*  1.01 +0.02
6.668 (34.6 £0.2) x 10* (36.5 +0.2) x 10* 0.948 + 0.007
6.682 (24.7 £ 0.3) x 10* (24.5+0.3) x 104 1.014 £ 0.009
6.701 (84.1 £0.3) x 10* (113.3 £0.3) x 10* 0.742 + 0.003
6.952 (7.15 £ 0.09) x 10* (8.1+0.1) x 10* 0.88 £ 0.03
6.973 (8.2+0.1) x 10* (8.9+0.1) x 10* 0.91 £0.01
7.767 (2.97 £ 0.05) x 10°  (2.96 +£0.05) x 10*  1.00 £ 0.02
7.806 (2.89 4 0.05) x 104 (2.94 £+ 0.05) x 10* 0.98 £ 0.02
7.882 (7.21 4 0.08) x 104 (7.73 £0.08) x 10* 0.93 £0.01
8.073 (0.067 £ 0.008) x 10*  (0.078 4 0.009) x 10* 0.85£0.14
8.102 (0.09+0.01) x 10*  (0.066 £ 0.008) x 10  1.39 4 0.22
8.253 (1.51 4 0.06) x 104 (1.66 & 0.06) x 10* 0.90 £ 0.03
8.264 (2.33 £ 0.06) x 104 (2.33 £0.06) x 10* 1.00 £ 0.02
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0O A14: ASTRO-H,OOOOO 240000 M=050000000000

Energy[keV] counts(DOO0D0O0O) counts(DOOOO0O) oooo
6.637 (147 £0.04) x 10* (151 £0.04) x 10*  0.97 0.03
6.668 (11.1+0.1) x 10* (1L2+£0.1) x 10*  0.99£0.01
6.682 (7.6 £ 0.1) x 10 (7.1£0.1) x 10 1.06 £ 0.01
6.701 (35.3 % 0.2) x 10* (35.1+0.2) x 10°  1.006 = 0.007
6.952 (3.86+0.07) x 10 (3.89+0.07) x 100 0.99 + 0.02
6.973 (458+0.07) x 10 (455+0.07) x 100 1.00 + 0.02
7.767 (0.85£0.02) x 10 (0.85+0.02) x 10*  1.00 % 0.04
7.806 (0.7940.02) x 10  (0.89+0.03) x 10°  0.89 +0.04
7.882 (2.66+0.05) x 10*  (2.634+0.05) x 10* 1014 0.02
8.073 (0.025 4 0.005) x 10*  (0.027 +0.005) x 10*  0.91 +0.25
8.102 (0.027 £ 0.005) x 10*  (0.033 +0.006 x 10 0.83 +0.21
8.253 (0.5240.03) x 10*  (0.614+0.03) x 10*  0.86 % 0.05
8.264 (0.96£0.04) x 10*  (0.854+0.04) x 10*  1.11+0.05

0 A.1.5: ASTRO-H, 00000 10000.,M=1.0000000000

EnergykeV] counts(OOOODO0O) counts(QOODOODO) 0oooo
6.637 (3.7+£0.1) x 10* (4.3+£0.1) x 104 0.86 £+ 0.01
6.668 (35.3+£0.7) x 10* (34.1+£0.7) x 10*  1.035 £ 0.007
6.682 (21.4 £ 1.1) x 10* (27.8+1.1) x 10*  0.771 £0.007
6.701 (96.3 £ 0.6) x 10% (112.8 £0.6) x 10*  0.853 & 0.003
6.952 (7.0+£0.1) x 10* (8.0+£0.1) x 10* 0.87 £0.01
6.973 (8.4+0.1) x 10* (9.0+£0.1) x 10* 0.93 £0.01
7.767 (2.85 £ 0.06) x 10* (2.98 +0.06) x 10* 0.95 £ 0.02
7.806 (2.87 £ 0.06) x 10* (2.98 +0.06) x 10* 0.96 & 0.02
7.882 (7.56 £ 0.08) x 10* (7.50 £ 0.08) x 10* 1.00 £ 0.01
8.073 (0.08 £ 0.01) x 10* (0.08 £ 0.01) x 10* 0.94+0.14
8.102 (0.06 £ 0.01) x 104 (0.06 +0.01) x 10* 0.97 £0.16
8.253 (1.48 £+ 0.09) x 104 (1.56 £ 0.09) x 10* 0.95 +0.03
8.264 (2.440.1) x 10* (2.32 £ 0.09) x 10* 1.05 4 0.03
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0O Al.6: ASTRO-H,OOOOO 240000 M=1.00000000000

Energy[keV] counts(DOO0D0O0O) counts(DOOOO0O) oooo

6.637 (1.29 £ 0.06) x 10* (1.22 £ 0.06) x 10* 1.05 4 0.04
6.668 (10.2 4 0.4) x 10* (1.09 +0.4) x 10* 0.93 £ 0.01
6.682 (9.1 +0.6) x 10* (8.3+£0.6) x 104 1.09 £ 0.01
6.701 (34.940.3) x 10* (34.6 £0.3) x 10*  1.008 £ 0.007
6.952 (4.00 £ 0.09) x 10* (4.13 £ 0.09) x 10* 0.96 & 0.02
6.973 (4.540.1) x 10* (4.540.1) x 10* 0.99 £ 0.02
7.767 (0.90 £ 0.03) x 10* (0.86 & 0.03) x 10* 1.04 4 0.04
7.806 (0.93 £ 0.03) x 10* (0.87 £ 0.03) x 10* 1.06 £ 0.05
7.882 (2.61 +0.05) x 10* (2.67 £ 0.05) x 10* 0.97 4 0.02
8.073 (0.036 £ 0.007) x 10*  (0.027 £0.006) x 10*  1.29 +0.32
8.102 (0.010 4 0.005) x 10*  (0.024 £ 0.006) x 10*  0.4440.16
8.253 (0.62 +0.05) x 10* (0.65 & 0.05) x 10* 0.96 4 0.05
8.264 (0.84 £ 0.06) x 104 (0.93 £0.06) x 10* 0.90 £ 0.04

A.2 Suzaku/XISOOOOOOOOO

04400 SweakuODOOOOODOOOODOODO

0 A.2.1: Suzaku/XIS, 00000 10000,000000000

Energy[keV] normalization
6.637 (5.96 £ 0.06) x 10~
6.668 (4.344+0.04) x 107°
6.682 (3.0240.03) x 107°
6.701 (1.25+0.01) x 10~*
6.952 (8.6 +0.7) x 1076
6.973 (8.6 +0.7) x 1076
7.767 (6.9+0.8) x 1076
7.806 (6.6 +0.8) x 1076
7.882 (1.3+£0.1) x 107°
8.073 (0£6) x 1077
8.102 (04£6) x 1077
8.253 (2.5+£0.6) x 107°
8.264 (2.84£0.7) x 1076
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0 A.2.2: Suzaku/XIS, 00000 240000,000000000

Energy[keV] normalization
6.637 (1.854+0.01) x 107°
6.668 (1.351 4 0.007) x 10~4
6.682 (9.42 £ 0.05) x 107
6.701 (3.89 £ 0.02) x 1074
6.952 (4.8+0.1) x 107°
6.973 (4.8+0.1) x 107°
7.767 (22+0.1) x 107°
7.806 (21+£0.1) x 107°
7.882 (3.6 £0.3) x 107°
8.073 (0+1)x 10
8.102 (0+1)x 107
8.253 (9.8 +£1.0) x 107¢
8.264 (1.1£0.1) x 107°

A3 SuwzakuOOOOOOOOODO

A31 0 431000000000000

0 43100 SwzakwuO0OOOOOOOOOODO0OOOOOOOOOOOOODO 3.5.19(b)00000O0O0O
oono
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O A3.1: Suzaku, 00000 10000 M=0000000

Energy[keV] normalization(OOO O O00O) normalization(DO OO0 0O0O)

6.637 (2.09 £0.01) x 10~¢ (3.46 £ 0.02) x 1076
6.668 (1.52 4 0.01) x 107° (2.5240.01) x 107°
6.682 (9.69 & 0.07) x 1076 (1.603 £ 0.009) x 10~°
6.701 (2.75 4 0.02) x 107° (4.54 4 0.02) x 107°
6.952 (4.07 £ 0.09) x 1076 (6.040.1) x 1076
6.973 (4.01 £0.09) x 10~¢ (5.940.1) x 1076
7.767 (2.4+0.1) x 1076 (2.740.1) x 1079
7.806 (2.3+£0.1) x 1076 (2.540.1) x 1079
7.882 (3.3£0.2) x 1076 (4.240.2) x 1079
8.073 (1.240.4) x 1077 (2.3+£0.5) x 1077
8.102 (1.340.5) x 1077 (24+0.5) x 1077
8.253 (1.37 £ 0.06) x 1076 (1.46 +0.06) x 1076
8.264 (1.73 £ 0.08) x 1076 (1.83 4 0.08) x 1076

0 A.3.2: Suzaku, 00000 240000 ,M=0000000

Energy[keV] normalization(0 OO O O00O) normalization(0O OO0 0O0O)

6.637 (8.36 £ 0.03) x 1076 (8.01 £ 0.03) x 1076
6.668 (6.08 £ 0.02) x 1075 (5.82 4 0.02) x 10~°
6.682 (3.86 £ 0.01) x 1075 (3.70£0.01) x 10~°
6.701 (1.098 £ 0.004) x 10~4 (1.051 £0.004) x 10~
6.952 (2.4140.02) x 10~° (2.4340.02) x 10~°
6.973 (2.37 £0.02) x 1075 (2.39 £ 0.02) x 10~°
7.767 (6.1+£0.1) x 107° (6.0+0.1) x 1076
7.806 (5.7+£0.1) x 107° (5.6 £0.1) x 1076
7.882 (1.20 £ 0.04) x 10~° (1.19 4+ 0.03) x 10~°
8.073 (4.7+£0.8) x 1077 (4.6 £0.8) x 1077
8.102 (5.04+0.9) x 1077 (4.940.9) x 1077
8.253 (4.6 £0.1) x 107° (4.5+0.1) x 1076
8.264 (5.840.1) x 107° (5.6 £0.1) x 1076
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0O A3.3: Suzaku, 00000 10000 M=05000000

Energy[keV] normalization(D OO O O0O) normalization(D 000 O00) O

6.637 (2.73+£0.01) x 1076 (3.49 4 0.03) x 1076
6.668 (1.97 £ 0.01) x 107° (2.54 4 0.01) x 107°
6.682 (1.258 £ 0.008) x 10~° (1.61 +£0.01) x 107°
6.701 (3.57 £ 0.02) x 107° (4.58 £ 0.02) x 107°
6.952 (5.240.1) x 1076 (5.940.1) x 1079
6.973 (5.1£0.1) x 1076 (5.840.1) x 1079
7.767 (2.5+£0.1) x 1076 (2.740.1) x 1079
7.806 (2.3+£0.1) x 1076 (2.540.1) x 1079
7.882 (4140.2) x 1076 (4140.2) x 1079
8.073 (1.0 4+ 0.5) x 1077 (1.24+£0.5) x 1077
8.102 (1.14+0.5) x 1077 (1.3+£0.5) x 1077
8.253 (1.44 +0.06) x 1076 (1.55 4 0.07) x 1076
8.264 (1.81 +£0.08) x 10~ (1.94 +0.08) x 1076

0 A.3.4: Suzaku, 00000 240000,M=05000000

Energy[keV] normalization(0 OO O O00O) normalization(0O OO0 0O0O)

6.637 (8.32 +£0.03) x 1076 (7.97 £0.03) x 10~6
6.668 (6.05 +0.02) x 1075 (5.79 £ 0.02) x 10~°
6.682 (3.8440.01) x 10~° (3.68 £ 0.01) x 10~°
6.701 (1.092 £ 0.004) x 10~ (1.046 £ 0.004) x 10~
6.952 (2.4240.02) x 10° (2.52 4 0.02) x 10~°
6.973 (2.39 £ 0.02) x 10~° (2.48 +0.02) x 10~°
7.767 (6.1+£0.1) x 107° (6.1+0.1) x 1076
7.806 (5.7+£0.1) x 107° (5.7+0.1) x 1076
7.882 (1.16 +0.03) x 10~° (1.20 £ 0.04) x 10~°
8.073 (4.240.8) x 1077 (4.4+0.8) x 1077
8.102 (4.440.8) x 1077 (4.740.9) x 1077
8.253 (4.4+0.1) x 107° (4.7+0.1) x 1076
8.264 (5.6 £0.1) x 10~° (5.9+0.1) x 1076
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O A35: Suzaku, 00000 10000 M=1.0000000
Energy[keV] normalization(OOO O O00O) normalization(DO OO0 0O0O)

6.637 (2.90 £0.01) x 10~¢ (3.4540.02) x 1076
6.668 (2.114£0.01) x 107° (2.51+£0.01) x 107°
6.682 (1.343 £ 0.009) x 10=° (1.600 £ 0.009) x 10=°
6.701 (3.814£0.02) x 107° (4.54 4 0.02) x 107°
6.952 (5.740.1) x 1076 (6.07 4 0.01) x 1076
6.973 (5.440.1) x 1076 (5.940.1) x 107¢
7.767 (2.6 +£0.1) x 1076 (2.640.1) x 1079
7.806 (2.5+£0.1) x 1076 (2440.1) x 1079
7.882 (3.94£0.2) x 1076 (4.340.2) x 1079
8.073 (2.04+0.5) x 1077 (1.24+£0.5) x 1077
8.102 (2.240.5) x 1077 (1.3+£0.5) x 1077
8.253 (1.40 +0.06) x 10~ (1.48 £ 0.06) x 1076
8.264 (1.75 4+ 0.08) x 1076 (1.86 & 0.08) x 1076

0 A3.6: Suzaku, 00000 240000 M=1.0000000
Energy[keV] normalization(0 OO0 O O00O) normalization(D 000 O00) O

6.637 (8.21 £0.03) x 1076 (7.98 £0.03) x 1076
6.668 (5.97 £0.02) x 1075 (5.80 & 0.02) x 10~°
6.682 (3.79 £ 0.01) x 1075 (3.69 £0.01) x 10~°
6.701 (1.078 £ 0.004) x 10~4 (1.048 £0.004) x 10~
6.952 (2.40 £ 0.02) x 10~° (2.4340.02) x 10~°
6.973 (2.37£0.02) x 10° (2.40 £ 0.02) x 10~°
7.767 (6.2+0.1) x 107° (6.0+0.1) x 1076
7.806 (5.840.1) x 107° (5.6 £0.1) x 1076
7.882 (1.14 4 0.03) x 10~° (1.1540.03) x 10~°
8.073 (6.1+£0.8) x 1077 (4.940.8) x 1077
8.102 (6.540.9) x 1077 (5.3+0.9) x 1077
8.253 (4.6 £0.1) x 107° (4.6 +0.1) x 1076
8.264 (5.7+£0.1) x 107° (5.8 +0.1) x 107

A.3.2 Sunders+0600000000000O00ODOOOODO

0 3.5.19(a) 0 Sunders+06 0 0000000000000 0OO0OOO0O0OOOOOOOOOOO 34.2
gooobooogon
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0O A37: 6.7keVOOOODOOOOODO

0000 EnergylkeV] 0000 M SwekuOOO0O0OOOOOOOOOOO
r<l 7.0 0 0.1483 £ 0.0025
0.5 0.1467 £ 0.0021
1.0 0.1465 £ 0.0021
gooood 0.132 £ 0.001
7.88 0 0.060 £ 0.004
0.5 0.058 £0.003
1.0 0.052 £ 0.003
gooooo 0.046 £ 0.002
8.25 0 0.057 £ 0.001
0.5 0.046 £ 0.001
1.0 0.041 £ 0.001
gooooo 0.036 £ 0.001
r<2-—4 7.0 0 0.219 +0.001
0.5 0.222 +0.001
1.0 0.223 +0.001
ooooood 0.231 +£0.001
7.88 0 0.055 +0.001
0.5 0.053 +0.001
1.0 0.054 £ 0.001
ooooood 0.057 £ 0.001
8.25 0 0.0485 £ 0.0008
0.5 0.0467 £ 0.0008
1.0 0.0485 £ 0.0009
oooooo 0.0489 £ 0.0009

0O A38 0000
7.0keV  7.88keV  8.25keV
0.689 1.034 0.676
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Graph Graph
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0O A39: 6.7keVOOOODOOOOODO

0000 EnergylkeV] 0000 M SwekuOOO0O0OOOOOOOOOOO

r<l 7.0 0 0.798 £ 0.003
0.5 0.203 = 0.002
1.0 0.200 £+ 0.002
gooooo 0.189 £+ 0.002
7.88 0 0.071 £ 0.004
0.5 0.065 £ 0.003
1.0 0.059 £ 0.003
gooooo 0.054 £ 0.002
8.25 0 0.067 = 0.002
0.5 0.055 £ 0.001
1.0 0.051 £ 0.001
gooooo 0.044 £ 0.001
r<2-—4 7.0 0 0.244 +0.001
0.5 0.246 + 0.001
1.0 0.248 +0.001
ooooood 0.252 +0.001
7.88 0 0.060 4= 0.001
0.5 0.056 4 0.001
1.0 0.057 £ 0.001
ooooood 0.058 = 0.001

8.25 0 0.0505 = 0.0009

0.5 0.0509 = 0.0009

1.0 0.0507 £ 0.0009

oooooo 0.0529 =+ 0.0009

0 A3.10: O OO0O
7.0keV  7.88keV  8.25keV
0.618 0.983 0.649
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Graph Graph
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